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M.Com. (Final) Business Adm. Examination, 2017

FINANCIAL MANAGEMENT
Paper — VI

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(Tve-3)
Answer all questions (50 words each).
All questions carry equal marks.

Tt wve A ¥ wEE WA w1 IW 50 S |
sfvm 7 2 ot v # o wEm

PART-B [Marks : 50]
(EUe-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TIF THER W TH-UF WA I gU, [ A 59 Hifem)
THE® WTT W IW 250 VR | e 7 W
Tft y i ® oF O E
PART-C [Marks : 301
(Eve-w)
Answer any two questions (300 words each),

All questions carry equal marks.
FE W I FIML TEF T F SW 300 TR

sfyw =7 B o WA ® ie e #)
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(i)

(i)

(iv)

V)

(vi)

PART-A
(@UZ-3T)

UNIT-1

=TT
What do you mean by operating cycle ?
T W% 9 W9 T T €2

What do you mean by financial planning ?

facfg doFn ¥ ST TR WEEE ¥ 2

UNIT-II
(3TE-11)
What is operating risk ?
sfaem Sifgs 7 %2

What do you mean by leverage ?

Ieed ¥ M T wEEe €2

UNIT-III

(FFTE-I1I)

What do you mean by Discounted Pay Back Period
Method ?

femsee ¥ &% safu fafd @ T Toow ¥
List two limitations of Capital Budgeting.

W awe W A W w
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UNIT-1V
(FHTE-IV)
(vil) List any two points of uses of cost of capital.
TSt #I GO ¥ Al I gEEs S
(viii)) What do you mean by opportunity cost ?
FAE AW W I g W™ ®?
UNIT-V
FFE-V)
(ix) What do you mean by grapevine ?
IqaEd @ TR Fn osfawEm # 0
(x)  What do you mean by Decoding ?
fewifen ¥ sy wm ofaym #2

PART-B
(@ve-9)
UNIT-I1

GFHE-D
2,  What do you mean by Financial Management ? Discuss
the finance functions in brief.

facim weivm | anuen @ afaym 227 98w ¥ faw e
R T
OR (37Ern)
3. Discuss various short term sources finance used to directly
or indirectly finance working capital.

fafi= oy om@fy fag & w4l e sTm oY 71 W
®q 9 FEWE g A ww &, W ow= W
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UNIT-11
(F-I0)

4. What do you mean by combined leverages ? How it is
calculated ? Discuss its significance in brief. (3+3+4)
TR I W SR w oA §, TRl TOR 39
oA 22 e WEW Heéw § waww)

OR ( 37%yam)

5. What do you mean by operating leverage ? How it is
linked with breakeven analysis 7 Discuss in detail
significance of operating leverage ? (3+3+4)
WRAE IeE W SR F49 IR ¥ 2 7% 99 faees
fig @ %9 dafim 22 wfEen scos % wew fawr
9 T

UNIT-1II
(F%E-101)

6. Differentiate between discounted and non-discounted

cash flow methods of capital budgeting. Discuss any

two methods of non-discounted cash flow methods in
brief. (5+5)

Tt Foea # R feaR W Rt Fw W=
fafit & a7 T H AR-ferr *w w o

T fafudl ®1 sem witw

OR (379an)
7. What do you mean by IRR ? How it is calculated ? Is it
superior 1o NPV method of capital budgeting 7 (3+3+4)

MEALIR. | W ¥ T ¥ ? TS T9A H R
T deq T @ dW A dEm B2
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10.

11.

UNIT-IV

FE-1V)
‘Retained earnings are costless’, do you agree ? Discuss
how cost of retained earnings is calculated ? (3+7)

‘g oM wrm e ¥, W amw mEmm ¥ 2
i g orE W OTOMT R FT W ® 2

OR (3r9an)
What do you mean by beta ? How it is calculated ?

Discuss in brief, how cost of equity is calculated using
CAPM approach ? (3+3+4)

dm ¥ o = T ¥ CAPM gfewmr W ITEm
IS # @vE o# T e W oWt § 7 weém
H F9 wifem)

UNIT-V

GFE-V)
What is the significance of ‘Noise’ in communication

process 7 What it indicates 7 Discuss communication
process in detail. (3+43+4)

TR wiFEm § ‘WR' w1 W wew ¥ 2 ww w 3fm
@ ¥ R ¥ WeR wRRm W o= Wl

OR (3F¥En)
What do you mean by verbal communication ?

Discuss various verbal form of communication methods
in detail. (3+7)

Hifas S99 N F §oew ? 2 UfEd TER @
fafim el w famar 9 ==t =R
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PART-C
(Eus-|)

UNIT-1

FFE-1)

12. What do you mean by working capital financing ?
Discuss various strategies of working capital financing 7
Which one among those is the most appropriate for a
growing firm ?

Frive goft e @ ey wa wmen ¥ 0 s
TS famde w e ok W e W T
foemsa v & fau $W-w woifis Svge € 2

UNIT-11

(FT-1II)

13. Calculate operating, financial and combined leverages
under situations when fixed costs are Rs. 5,000 and
Rs. 10,000 for financial plans 1 and 2, respectively, from
the following information pertaining to the operation and
capital structure of XYZ Ltd.
XYZ f&. & S9eA SR ISt T € gefun frafatan
WAET ¥ ofEen, faa st wgE ee # OO
FIfd v fer g fawiE OeMT 1 T 2 FTOREE:
5000 ¥ wd 10000 ¥ I
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14.

Rs.

Total Assets 30,000
Total assets turnover based on sales 2
Variable costs as a percentage of sales 60

Capital structure
Financing Plans

1 2
Equity 30,000 10,000
1(% Debenture 10,000 30,600
UNIT-III
(FHTE-100)

Nische Limited is an all equity financed comapny. The
current market price of the share is Rs. 180, It had just paid
a dividend of Rs. 15 per share and expected future growth
in dividends is 12%. Currently, it is evaluating a proposal
requiring funds of Rs. 20,00,000 with an annual inflows
of Rs. 10,00,000 for 3 years. Find out the NPV of the
proposal if :

) It is financed from retained earnings.

(iiy It is financed by issuing fresh equity (flotation

costs 5%).

Nische fafes & o siEd) fou 9o ot 21 ===
IR F TN TR o9 180 T B T g% 15
e o w waw o an ok wwiw O wfrss § 12%
WG F sE B omEE ¥ 2000000 F v H
FETIRA §Y, 3 T @ fAC 10,00000 T H ofE
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15.

16.

T o B WH Ve TF OTEE F AR FL

2 ymm w1 w@A F oA =R, 3R

) % fam dmw wwfm oo R fEn od

() woE fam dww den sfaEdt (S wR O#D
e s%) ¥ fEam

UNIT-1V

(F@TE-IV)
What do you mean by Fisher's Intersection Point ?
Discuss in detail the conditions in which the IRR and
NPV will give contradicotry result.

feyr gfreegs fag @ oe = wmweR ® 2 SHamem
iR wftal ® fotwumary wfomm 3 osmelt feufaai &t
fammr ¥ == =ife

UNIT-V

FF-V)
What do you mean by Review 7 Discuss various types
of review. Also explain the systematic system used (o
report these review reports.

TRer ¥ o wn wwEm %2 wfen F fatm www
™ Tu F e O W owwm s @ w o v
=EfeE YOt 1 FEmmat|

5826/2890/555/49 8



